=
<

El )
= 8
4 il )
5 1l o]
1072 !
.9101_%: | .!....!....I o
T 1.05F ; 11 5
o E . i : o
e R bidaniiiria
0.95F- ; SR HHE 1
0.9t H i i i H
-2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_MmKFIt_T1origmnal

—e— DOQM_mkFit_TTNEWHS-improved

—— DQM_mkFit_TToriginal-10i

—— DOM_mkFit_ TTNEWHSMS-improved
=~ 1= = 1=
= 1]
2 S
> 3
° o
35 [¢]

H
S
L

8 E :
g 1.055— ------- R . .......
| SRR 4t - it e e
0.95F -+~ : it RS
0.9t i A A i : |
= -2 -1 0 1 2 3
TP n (PCA to beamline)
~ 1
E. N
D_)—
o
5
107t
10?2
o Ly HH
g 1y q il
1 8 A i
0.9F b . :
083——=""-1 0 1 2 3

TP n (PCA to beamline)

Ratio

-2 -1 0 1 2 3

083
TP n (PCA to beamline)



	Contents
	Page 1


